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A WS
[N

MY AN DEMWH £
SR Al 22 (LEANSALELESH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMIer st EE 2 200,000 = 3CH 600
OEMI S =&KX H| 10,000,000& = 1A 10,000
OEMI| JIss JtAaxY 1,500,000 * 14! 1,500
ORHSHNEI FAEx 2,000,000& = 1A 2,000
OXNEMHAI FRNES 2,000,000 = 14 2,000
202 o4l 5,520 5,520 0
01 2Ll 5,520 5,520 0
ONEANE H2F&X Yl
20,000 x 6YH * 463 5,520
206 M = H| 182,000 160,000 22,000
01 X2 H| 182,000 160,000 22,000
O ME HOE 2l 55,000& = 2,000= 110,000
OXNEEME HE 2¢ 45,000 * 1,600% 72,000
305 A2 S 3,000 2,000 1,000
01 A =2S 3,000 2,000 1,000
OXNEEMAE 20 2 IE3E 24
3,000,000& = 1A 3,000
MSS AX 2 22 568,000 411,000 157,000
201 et H9d| 96,000 106,000 A 10,000
02 2324 H| 96,000 106,000 A 10,000
Odls B8 xHE Az
8,000,000& = 12&€ 96,000
401 Al HI L 204 HI 472,000 305,000 167,000
01 Al&H| 467,000 300,000 167,000
OnENsEALX 40,000,000 = 14! 40,000
OZMOAI A 7,000,000 = 10902 70,000
OdBANSE &X 12,000,000 = 1JH A& 12,000
OLEDB EEXIE & X 3,000,000 = 504 A 15,000
OusSilss 2% 160,000,000 * 14! 160,000
OLshlssE &M 50,000,000& * 14 50,000
Odls HAE3 B2 At 30,000,000& = 14! 30,000
OSSN SS WHZIA 2,000,000& = 10902 20,000
OEHET E25 EX2A
2,000,000& = 10902 20,000
O0elol BEsY U=HEAIAE AX|
5,000,000& = 10902 50,000
03 AlE 20| 5,000 5,000 0
OusSASS AIE20UH] 5,000,000& = 1A 5,000
QI2IZ Al WEEAH 2= 1,456,643 1,509,529 N 52,886
QHBR 2 (LEANDEANTELESH) 446,850 464,389 A 17,539
SYHFE X 22 446,850 464,389 A 17,539
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HE: AUZY NEBY 7=
tel: AP e (LENNSASELESAH) (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
101 14 Hl 40,242 36,043 4,199
04 JIZHHZ22XREES 40,242 36,043 4,199
OFE2EXNNY =Xt AALRY 40,242
=Jl2g 54,9003 * 2% » 230 25,254
oFF 54,9003 * 29 46 5,051
ocHIxY 54,9003 = 2% » 11 1,208
o A 2H2A =G 10,300 * 150A12F = 29 3,090
c4HEH 16,356,300& * 17.235% * 2 5,639
201 Let24d] 205,992 200,046 5,946
01 At 22l 21,232 24,604 A3,372
OFXH=& Ol=l 300,000& » 69H 1,800
ORolEs U AAX2Y S|
7,000& * 6Y * 8¢ » 123 4,032
OunszHe =22 M= 5,000,000& = 14 5,000
oogoletd nsg I ¢
4,000,000& = 14 4,000
ONENHDE 2Y+g
70,0003 * 4% « 53] 1,400
OFEFXHs Mg DAL AME HE
5,000,000& = 14 5,000
02 =224l 184,760 175,442 9,318
Ottt AlE&Hl KXl
170,000 » 42004 « 12& 85,680
O&==ZHl |l 3,000,000& = 14 3,000
OSAIZY® T2 SI&2d(23)
500,000& = 12& 6,000
OXgRXb(28s, =488 &)
300,000& * 60H = 12& 21,600
OXgd RFROI(=FX, =M, dISHA)
280,000& * 604 » 12& 20,160
OFFX R LHiE €8 *E=
1,930& = 2,0008 * 12&8 46,320
ORHLXXE HXH X= 200,0008 » 1004 2,000
202 oddl 30,900 30,900 0
01 = LH o4 1l 30,900 30,900 0
OSAZYSE & AtgH 2 EF0H
20,000& = 159 = 1033l 30,900
301 LEtE LS 4,100 5,500 A 1,400
09 HALAHIE& S 2,000 4,000 A 2,000
OunSSAZ0F SHALEOW KA
200,000& = 5H « 23| 2,000
11IIEEAS 2,100 1,500 600
OusSAtDEEsH Il=d X&
300,000& = 79H 2,100




A S
oIt

HE: AUZY NEBY 7=
tel: AP e (LENNSASELESAH) (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
5 e 2SS 2,500 2,500 0
01 Hia=S 2,500 2,500 0
OXt&gAel sl&E a3 2,500,000& = 14 2,500
307 glz2tol & 7,000 0 7,000
02 HAHFHAANGFEX 7,000 0 7,000
Ounsotd sAmegst N&
7,000,000& = 14l 7,000
401 Al B2 28I 156,116 153,000 3,116
01 A& HI 155,000 153,000 2,000
Ofelotner #X 40,000,000& = 20 A 80,000
ORItk Jidllet dsHHd
10,000,000& * 54 50,000
ORQlck= Jthlet AI&2= 500,000& * 4204 21,000
O=&8x=X EX& &#Hl 4,000,000& * 14 4,000
03 Al =2 THHI 1,116 0 1,116
OAIZ 2 HHI 1,116,000& * 14 1,116
WESA MASF(ZLESANLSALSSESAH) 1,009,793 1,045,140 A 35,347
FIE A2l 231,191 169,450 61,741
101 @124 dl 98,191 87,450 10,741
04 JIZHHZ2Z2XNHESE S 98,191 87,450 10,741
OHUHSEE=IE LAAIG AR 98, 191
=JlZ2g 54,9003 = 5F = 230¢ 63,135
oIt 54,9003 * 5% » 11 3,020
oxFFd 54,9003 * 53 =« 46¢ 12,627
oAzt S g
10,300& = 5% * 8AIZH = 10 4,120
c4HEE RE3 82,902,000& = 17.235% 14,289
SHAFEIE Fxz2 U=l
200,000&  59H 1,000
201 L2l 23,000 23,000 0
01 At 22l 13,000 13,000 0
OZYEANFNELY 228 7Y
8,000,000& = 14 8,000
OFXE HE gtz 5,000,000& = 14 5,000
02 =224l 10,000 10,000 0
OFX 2HEH =KX & E=
10,000,000 * 14 10,000
5 a3 S 5,000 5,000 0
01 &3S 5,000 5,000 0
OTY=ENZ(NGLY) Hysle 24
5,000,000& = 14l 5,000




EA: WEI
Hu: 00EY DEBY 25
S NEEA HAHSM(LEALNEALEESH) (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
1 AL H Y20 105,000 50,000 55,000
01 Al&H| 100,000 50,000 50,000
OZ2EFIHE A2 & AX
100,000,000 * 14! 100,000
03 AlE 201 Y| 5,000 0 5,000
OAI& 20| 5,000,000 = 1A 5,000
S2UT(HA - EHAl) &AX 2 22 369,538 316,580 52,958
101 2121 | 18,538 20,580 N2,042
04 JIZtHI22XNSE S 18,538 20,580 A2,042
OsLa HA dAAIEE 18,538
ocllga 54,900 * 4% x 60 13,176
oFsH 54,900 * 4% = 104 2,196
ocHIXI=H 54,900 * 4% x 2& 440
o4l E 15,812,000€ * 17.235% 2,726
201 et 6,000 6,000 0
01 AP 2t 2| d| 6,000 6,000 0
OAMUWHA ZTEAIZLE MY (24H)
6,000,000& = 1Al 6,000
401 AlEHIZL 2 0HY| 345,000 290,000 55,000
01 Al& H| 340,000 290,000 50,000
OsdE X B4 90,000,000& * 14! 90,000
Os2d&EEs L CSAIEWA
150,000,000 * 14! 150,000
O2018= A& FFHIN HE 28 AX
100,000,000 * 14! 100,000
03 Al&E 201 Y| 5,000 0 5,000
OAEE0Hdl 5,000,000& = 1Al 5,000
WSOHNMAIE X & 2¢ 305,120 228,280 76,840
201 LBt | 23,620 22,780 840
01 AP 22| H| 17,620 16,780 840
ORSAHHALLDE 2
10,000,000& = 1A 10,000
OnsEod E2=2 M 3,000,000 = 14 3,000
OUSUHMAIE HAX S A
7,0008 « 49 x 52 « 12€ 1,680
ONSASSANLARS HA2T
70,000 = 7¥H x 63 2,940
02 222%4| 6,000 6,000 0
OANMEXEAXE =8 KA H| 500,000& = 12€ 6,000
206 T 24 29,500 18,500 11,000
01 X2 H| 29,500 18,500 11,000




2N

HE: UZH NEBY 7=
SR MEEY HHSHASADSALSE) (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 %Ei Hns2
ONEREE 7Y 35,0008 * 7000 24,500
ORI EXE 7 50,0008 * 10074 5,000
305 A2 S 2,000 2,000 0
01 A 2S 2,000 2,000 0
ONSAESH 28t BI2tol 2 axl 2|
2,000,008 * 14! 2,000
401 AIEHI L 2T B 250,000 185,000 65,000
01 Al tl 245,000 185,000 60,000
ONMSEE SXBA  20,000,0008 * 14 20,000
ODSUFMEXE &X 100,000,008 * 14 100,000
ODSAFAIL SXE4 100,000,008 * 14 100,000
OO0IZ T2 HHI(LEHSH) 10,000,008 * 1A 10,000
OzoHATES =X 15,000,0008 * 14} 15,000
03 Al = Ch bl 5,000 0 5,000
OA & LTI 5,000,008 * 14! 5,000
ol Bl bl 103,944 330,830 226,886
801 0IlHl bl 103,944 330,830 226,886
01 2Bl bl bl 103,944 330,830 226,886
ORI 103,944,00090 * 14 103,944
#H2IAL(DED) 465,143 432,716 32,427
O HY (BEANRSAASHEH) 465,143 432,716 32,427
o1z 2yl 465,143 432,716 32,427
101 2121l 465,143 432,716 32,427
03 RIAA2ZRES 465,143 432,716 32,427
ORI HA22R Q12| 465,143
SSIE= 165,114
CHIBE 1,464,620% * 5% * 122 87,878
- mefols 1,609,0708 * 4% * 128 77,236
RN 6,437
e 1,609,0708 * 100% * 4 6,437
ollgsg 42,166
RS 1,464,62080 * 400% * 58 29,293
ERIE 1,609,0708 * 200% * 48 12,873
o= F I 16,512
HES T
1,464,620%0 * 60% * 23| * 58 8,788
X oiole
1,609,070% * 60% * 28| * 4% 7,724
CUMRBENLY 29,050
RS 146,38091 * 58 + 202 14,638
xoiols 180, 15021 * 4% » 202 14,412




2AMd: DS
M HH2IZH (nsS)
thel: ALY (ZEAMNLSASEEEA)
SA - ZE-B(EA) - NRAY - B S il &t o il
cA222E 43,580
HEE X
18,300& = 5% = 20AI2t = 128 21,960
motole
22,5203 * 4H * 20AI2t = 128 21,620
o Z A G A 17,280
CHEEX 160,000& * 5% = 12& 9,600
QS e ol e 160,000& * 4H = 123 7,680
oM LAY (HYR)
2,176,140& = 250% * 4H 21,762
oIHEZRHI(HYOR)
110,000& * 4H = 123 5,280
CUWSEXH(HYR)
140,000& * 98 « 123 15,120
ocltHSHIE X+
463,990 * 9% + 0.2 » 123 10,023
CIIEE 8,640
i < Kt 40,000& * 99 = 128 4,320
= 20,000& = 18H = 123 4,320
CRRUARLY (HHEE)
50,000& = 5% = 12& 3,000
CXEFLL(HIBE)
240,000& = 5H « 123 14,400
cStgRsg(HR)
90,000& = 4H » 128 4,320
oAAF AT (HYAUR)
70,0003 = 4¥ « 128 3,360
oflMAT(H0IR)
60,0003 = 4H » 123 2,880
oA (RelIR)
1,800& = 4% « 22 « 123 1,901
oXMAS 500,000& * 44 2,000
c4HEE RE3 303,555,760& * 17.235% 52,318




